

# H.H. THE EMIR CUP 2020

## FORMAT AND RULES





Tournament Official Wel	osite
Official Website	www.qatarbowlingfederation.com

Tournament Information		
Affiliation	World Bowling Tour & sanctioned by ABF and WB	
The tournament is open for	Bowlers from World Bowling member federations	
Tournament organizer	Qatar Bowling Federation	
Centre	Qatar Bowling Center	
City	Doha	
Federation	Qatar Bowling Federation	
Date of Tournament	01 – 07 March 2020	

Tournament Delimitations		
Category	Open	
Event	Singles Mixed	

Tournament contact details		
Contact person	Mr. Bandar Al-Shafi, Tournament Director	
Mobile No.	+974 5589 9444	
Email:	qatarbowlingfederation@gmail.com	

Bowling Center Address		
Physical Address:	Qatar Bowling Center P.O. Box 20305 Near Mannai Roundabout, Doha – Qatar	
Phone:	+974 44329178	
Fax:	+974 44432436	
Email:	qatarbowlingcenter@gmail.com	
Website:	www.qatarbowlingcenter.net	

Prize Money Expressed in USD			
Position	NO.	AMOUNT	Singles Mixed
Position 1	1	20,000	20,000
Position 2	1	12,000	12,000
Position 3	1	6,500	6,500

TOTAL PRIZE MONEY			102,000 USD
High Series by Squad	4	200	800
Positions 31-32	2	1,400	2,800
Positions 29-30	2	1,500	3,000
Positions 21-28	8	1,600	12,800
Positions 7-20	14	2,400	33,600
Position 4 - 6	3	3,500	10,500

### **Tournament Format**

## **How to Qualify**

Qualification – total of 12 games (6 games every squad).

Qualification is unlimited.

Will be played in 4 separate squads (A, B, C, & D). A player can choose to play either in A, B, C, D Squad, or all squads but will choose only with the best series. NO combination of scores from different squads.

Any player that has registered and played for a squad is entitled to play the Desperado squad (to play 1 Game).

## **Composition of Top 32**

1-25 players from the general standing (Pos 1 - 7) + (Pos 8 Qatari) + 17 players (Pos 9 - 25)

Top 3 from Qatari players after Top 25 General Standing

4 players from Desperado squad

#### **FINAL STEP 1**

Pos 9 – 32 (total of 24 players) will play total of 6 Games.

Top 12 will advance to Final Step 2

#### **FINAL STEP 2**

20 players= 8 players (Pos 1-8) from General Standing + 12 players from Step 1 will bowl total of 6 Games.

Top 6 will advance to Final Step 3.

#### **FINAL STEP 3**

**Top 6 bowlers** [Step 3 (Pos 3 - 4 - 5 -6), Step 4 (Pos 2), Step 5(Pos 1)].

Positions 3 - 4 - 5 - 6 will play total of 2 games.

Highest seed /Winner in this match will advance to Step 4.

### **FINAL STEP 4**

Winner from Step 3 will meet Position 2 to play total of 2 games.

Winner in this round will advance to the Final match.

## FINAL STEP 5 (FINAL)

Winner from Final Step 4 will meet Position 1 to play total of 2 games.

Entry fees in USD		
Squad	Fee	
Squad A	800 USD	
Squad B	800 USD	
Squad C	900 USD	
Squad D	900 USD	
RE-Entry	600 USD	
Desperado	100 USD	

Squad	Day	Date	Time	Spots	GAME
Squad A	Sunday	01 March	16:00	60	6 Games
Squad A	Monday	02 March	16:00	60	6 Games
Squad B	Tuesday	03 March	16:00	60	6 Games
Squad B			13:30	60	6 Games
Squad C	Wednesday	04 March	17:00	60	6 Games
Squad C			13:30	60	6 Games
Squad D	Thursday	05 March	17:00	60	6 Games
Squad D	Friday		18:00	60	6 Games
Desperado		06 March	Right after Sq D	60	1 Game
FINAL STEP 1	Saturday	07 March	10:00		
FINAL STEP 2	Saturday	07 March	13:00		
FINAL STEP 3	Saturday	07 March	17:00		
FINAL STEP 4	Saturday	07 March	18:00		
FINAL STEP 5	Saturday	07 March	19:00		

## **Tournament tie rules**

# Qualification, Final Steps 1 – 5

In case of a tie, a one-ball roll off on a full set of pins will be played, repeated until the tie is broken.

Lane assignments and lane movements		
Lane draws	By impartial notaries public	

Bowlers per lane	2 or 4
Lane Movement	After each game
Number of lanes to move	2 lanes in small and 4 lanes in big squads

Booking Policies		
Booking limit before	Maximum of 3 squads can be pre-booked via our official website.	
Total number of bookings	Unlimited	
Bookings Cancellations	Possible, but pre-paid entries will not refunded	
Registration deadline online	February 29, 2020	
Actual registration deadline	30 minutes before the scheduled squad times	

ATTACH MANAGEMENT AND	

Passport and Visa contact person		
Contact person	Adil Al Saoudi	
Mobile No.	+974 3338 8000	
Email:	adil_qbf@hotmail.com	

Mr. Abdulsalam Abdulla

President